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] 2[R = ElE X B X (LTER + AMIEE + AER + MEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 [k = (UREIIE X 27 - &mf) X (B TER + WEER)) + GRHIIE X B2 X (RIEE + RILE))
4.158 m3 = ((1.500 * 1.390 — 0.006) * (2.000 + 0.000)) + (1.500 * 1.390 * (0.000 + 0.000))
SR 1 [ = WEIE X (ETEE + RRERE + RAIRLEE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A IH 1 [ = mAE X (ETHER + MEE + RilEE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A I o [ = WEE X (ETEE + /LE + ALE + BELE)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
BRETETEES : 20001000 H#)%EHE]
| T@%s | o | TI#E&#M |KBRKEXAEIEHPPEGTS L-+ES | 03 | J—h&#  [miEHE (1700)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
4.158 m3 = ((1.500 * 1.390 — 0.006) * 2.000) + (1.500 * 1.390 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.930 m3 = 0.930
B ALy JE 3 |HE = WHIEE L=
(HEH) 4.158 m3 = 4.158
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T T % E 8 E E (fF B % )
BEEEEES . 20001000
IEEE | o1 | TIEE#M  |KBRKEXEIEHPPEGTS L-+ES | 04 | J—r&#  [MiEHE (1200)
Ji@ fi3 | FH A
AL 1 [k = (LTHEE + RIBVER + AMRIEE + MEER) + (EFMBIE - SmiEg X T )
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000
EES 1 [ = WEIE X (ETER + RRERE + RAIRLE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] 2[R = ElE X B X (LTER + AMIEE + AER + MEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 [k = (UREIIE X 27 - &mf) X (B TER + WEER)) + GRHIIE X B2 X (RIEE + RILE))
2.658 m3 = ((1.500 * 0.890 — 0.006) * (2.000 + 0.000)) + (1.500 * 0.890 * (0.000 + 0.000))
SR 1 [ = WEIE X (ETEE + RRERE + RAIRLEE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A IH 1 [ = mAE X (ETHER + MEE + RilEE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A I o [ = WEE X (ETEE + /LE + ALE + BELE)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETEEIEES - 20001000 H#HEE]
| T@%s | o | TI#E&#M |KBRKEXAEIEHPPEGTS L-+ES | 04 | J—r&#  [MiEHE (1200)
JEFE R IEI Gl B Al 15l / it B M
FEHIH D R L 1 i = JEAE X JEAR X (ETER + RIER + 3L R + MBI R)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
FEEIE D B L 2 |FdE = (GRHIE X JBEA - BEf) X BLIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
2.658 m3 = ((1.500 * 0.890 — 0.006) * 2.000) + (1.500 * 0.890 * (0.000 + 0.000 + 0.000))
Ay )E 1 |SERAIE: = AR X B4 X (ETEE + RIEE + RIBEE + WEER)
(ElZE9m ) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1| BE = SEEEEE e R
CEES D) 0.150 m3 = 0. 150
Ay )E 1 i = SR LE
(HEHI) 0.720 m3 = 0.720
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 0.930 m3 = 0.930
Ay )E 3 [HE = HREHIZE3E LA
(HEHI) 2.658 m3 = 2.658
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T T % E 8 E E (fF B % )
BEEEEES . 20001000

IEEE | o1 | TIEE#M  |KBRKEXEIEHPPEGTS L-+ES | 05 | —ta#  |dEEILRILIEE(1700)

Ji@ fi3 | FH A

AL 1 [ = (BTEE + 2BVEE « RILE + WEUEE) + (GEFIREIE - SS@imiiE < MFRMI) X bk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000

EES 1 [ = WEIE X (ETER + RRERE + RAIRLE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] o [BkR = (GREBIE X B2 - FEA) X (ETER + MEER)) + GREE X 2 X (RIREE + ARER))

5.088 m3 = ((1.500 * 1.700 — 0.006) * (2.000 + 0.000)) + (1.500 * 1.700 * (0.000 + 0.000))

EETAE 1 [ = mAE X (ETER + AEE + RilEE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

A I 1 [ = WEIE X (ETEE + RRERE + RAIRLEE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

A IH 2 [t = miliE X (FTHEE « RIER + RIEE + MEEE)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

HHFLD R L 1 [ = (GREIE X B - BmE) X L TER) + GEEE X 24 X QRIRIEE + AR + WEER))

5.088 m3 = ((1.500 * 1.700 — 0.006) * 2.000) + (1.500 * 1.700 * (0.000 + 0.000 + 0.000))
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T T % E 8 E E (fF B % )
BRETETEES : 20001000 H#)%EHE]
[ TrEEE [ oo | TIHE&%H [ABKEXEIEHPPEGTS - rES | o5 | —t&#  [mEELAILFEE700)
JEFER R & |t 3 L 15 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBEE + fEERE)
(Bl EEHEH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(EliZEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE &
(HEH!) 5.088 m3 = 5.088
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20001000
TEES | o1 | THEEW [ABRKEAEIEHPPESTS = | 06 | J—F&% [HERIET (1500)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
3.450 m3 = 1.000 * 1.150 * (3.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.900 m3 = 1.000 * 0.300 * (3.000 + 0.000 + 0.000 + 0.000)
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
BAZE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
TTET D 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
2.730 m3 = 1.000 * 0.910 * (3.000 + 0.000 + 0.000 + 0.000)
e 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.900 m3 = 1.000 * 0.300 * (3.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
BRETETEES : 20001000 H#)%EHE]
| T@%s | o | TI#E&#M |KBRKEXAEIEHPPEGTS L-+ES | 06 | J—r&#  [mERET (1500
JEFER R & |t 3 L 15 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBEE + fEERE)
(Bl EEHEH) 0.150 m3 = 1.000 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |F&E = SEEEAE U LR
(EliZEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |FE = wHIEIELE
(HEH) 3.450 m3 = 3. 450
oy Uy ] 2 |HE = wHIEE &
(HEH!) 0.900 m3 = 0.900
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T T % E 8 E E (fF B % )
BEEEEES . 20001000
IBES | 03 | TIEEWM |ARKEEEIEPEW 30 - +ES | oo | —r&#  [miEYE (1200)
Ji@ fi3 | FH A
AL 1 [k = (LTHEE + RIBVER + AMRIEE + MEER) + (EFMBIE - SmiEg X T )
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000
EES 1 [ = WEIE X (ETER + RRERE + RAIRLE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = AR X 845 X (E TR + RBER + AIRLEE + MEEE)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] 2[R = ElE X B X (LTER + AMIEE + AER + MEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
] 3 [k = (UREIIE X 27 - &mf) X (B TER + WEER)) + GRHIIE X B2 X (RIEE + RILE))
2.518 m3 = ((1.500 * 0.840 — 0.001) * (2.000 + 0.000)) + (1.500 * 0.840 * (0.000 + 0.000))
SR 1 [ = WEIE X (ETEE + RRERE + RAIRLEE + MEEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A IH 1 [ = mAE X (ETHER + MEE + RilEE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
A I o [ = WEE X (ETEE + /LE + ALE + BELE)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
BRETETEES : 20001000 H#)%EHE]
| T@8%s | 03 | IE&# |[KBKEXEIEPEW 30 - +ES | oo | —r&#  [miEYE (1200)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
2.518 m3 = ((1.500 * 0.840 — 0.001) * 2.000) + (1.500 * 0.840 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.930 m3 = 0.930
B ALy JE 3 |HE = WHIEE L=
(HEH) 2.518 m3 = 2.518
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20001000
THEES | 03 | THEEW [ARBKEASIEPEA) 30 = [ 02 | wW—r&% [d#E#E%(800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
18.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.296 m3 = 0.600 * 0.240 * (9.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.674 m3 = 0.600 * 0.310 * (9.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.566 m3 = 0.600 * 0.290 * (9.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
BRETETEES : 20001000 H#)%EHE]
[ TrEEE [ 03 | TIHEA&H [ABRKEBEASIEPEA) P30 [ -r&S [ o2 | —r&% [iE#EE(800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
1.674 m3 = 0.600 * 0.310 * (9.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.557 m3 = ((0.600 * 0.290 - 0.001) * 9.000) + (0.600 * 0.290 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.270 m3 = 0.600 * 0.050 * (9.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.270 m3 = 0.270
B ALy JE 1 |FE = wHIEIELE
(HEH) 1.296 m3 = 1.296
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.674 m3 = 1.674
B ALy JE 3 |HE = WHIEE L=
(HEH) 1.566 m3 = 1.566
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20001000
IEEE | 05 | IEAH [REHEARESEIS = | of | W—r&# [d#EE (1200
[EE] EHEEEEE A
A B 1 M = (ETHEE + 2WVIEE + AIEE + WEER) + (EFREIE - %mimaiE X #kFEETE)
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
2.658 m3 = ((1.500 * 0.890 — 0.006) * (2.000 + 0.000)) + (1.500 * 0.890 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
BRETETEES : 20001000 H#)%EHE]
[ TiEE&= [ 05 | IlE&W |[AEEARESTE - &S [ o1 | J—F&% [miEeE (1200)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
0.930 m3 = 1.500 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
2.658 m3 = ((1.500 * 0.890 — 0.006) * 2.000) + (1.500 * 0.890 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.930 m3 = 0.930
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 2.658 m3 = 2.658

_16_

kT 2 AKE R




T T & 2 %+ B & (8 & % )
HEtEEEBS . 20001000
IEEE | 05 | IEAH [REHEARESEIS = [ 02 | wW—r&% [d#E#E%(800)
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
10.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.000 m2 = 0.600 * (5.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.720 m3 = 0.600 * 0.240 * (5.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.930 m3 = 0.600 * 0.310 * (5.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.020 m3 = 0.600 * 0.340 * (5.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.000 m2 = 0.600 * (5.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.000 m2 = 0.600 * (5.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.000 m2 = 0.600 * (5.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
BRETETEES : 20001000 H#)%EHE]
[ TiEE&= [ 05 | IlE&W |[AEEARESTE - &S [ 02 | J—r&% |whiE#iEk(800)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
0.930 m3 = 0.600 * 0.310 * (5.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.990 m3 = ((0.600 * 0.340 — 0.006) * 5.000) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.150 m3 = 0.600 * 0.050 * (5.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.930 m3 = 0.930
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.020 m3 = 1.020
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+T T &% E ft E & (& B % )
SRETEEEES . 20001000
TEEES | 07 | IHEW |[ASBKEIE - rES [ o | n—tr&% [oE
JEFE R IEIN il B Al 15l / it B BN
RO 1 |HE = (ETERE + RIEVIERE + BBIEERE + EER) + (FEFREIE - SEEEIE) X FE&EITE)) X GIWEIER
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
(Rl 1 |FE = AR X (ELER + RIEER + ER + EIER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
JHE 2 |EdE = HBHNE X JEA X (RTIER + RIBIEE + RIITEE + MEER)
1.065 m3 = 1.000 * 0.710 * (1.500 + 0.000 + 0.000 + 0.000)
EiEIE I 1 |FE = AR X (ELER + RIER + 3UER + EIER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
AT IH 1 [BE = BElE X (ETER + RIUER + UL E + fEER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
AR IH 2 |EiE = HBHIE X (ETIEE + RIEERE + RIEEE + MELER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
FEHIH D R L 1 i = JEAE X JEAR X (RTER + RIEER + 3YRER + fEIER)
1.065 m3 = 1.000 * 0.710 * (1.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 |&hEHRE R = WEIE X JBEA X (RTIER + RIIEE + AEERE + MELER)
CEES AL 0.075 m3 = 1.000 * 0.050 * (1.500 + 0.000 + 0.000 + 0.000)

_19_

kT 2 AKE R




T T &% E & B & i E = )
BRETEEIEES - 20001000 H#HEE]
| Ti&S | 07 | THEEH |FEMEKEIE IL—t&S [ of [ n—t&k |98
JEFE R IEIN il B Al 15l / it B BN
Ay )E 1 | = SR g
(ElZE9m ) 0.075 m3 = 0.075
Ay )E 1 | FE = A LS
(FEHI) 0.360 m3 = 0.360
Ay )E 2 &&= WHIE2E L&
(HEHI) 1.065 m3 = 1. 065
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20001000
TEES | 07 | THESAM |[ABEKEIE = [ 02 | J—r&% |whiE#iEk(800)
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
12.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.864 m3 = 0.600 * 0.240 * (6.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.008 m3 = 0.600 * 0.280 * (6.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
HErEEHEES 20001000
| T@E&s | 07 | IE%% |[AEEKEIS [L—rES [ o2 | —r&% [iE#E(800)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |EE = R X JBEA X (ETHER + KEER + REER + MEER)
1.008 m3 = 0.600 * 0.280 * (6.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.180 m3 = 0.600 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.180 m3 = 0.180
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.864 m3 = 0.864
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.116 m3 = 1.116
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.008 m3 = 1.008
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R6. 2 A {E1E ik

KIRDIRIE - Tk A i ol = i x x x
1 1 1 3 A oS
M S ! = " et pes £ ;ﬁ =
L ® o s 5 A A H F3 L
I o = & # i
k & Y 5 B C] B
§ & & =40 E =S # = &
= ©) @ ® @ ® ® @ ®
@/D*2 | ©x2*Q ®/@
(m) (m) (t/m-#0) (m) (#) (t) ([ED) (1) (/) (m)
HRA%
KiEH
01-02 0.25 2.5 0.0118 5.0 40 1. 1800 1 1. 1800 7 2.5mUTF|[ 0.9UTF
01-03 0.25 2.5 0.0118 2.0 16 0.4720 1 0.4720 7 2.0mATF([1.1~1.5
01-05 0.25 2.5 0.0118 2.0 16 0. 4720 1 0. 4720 7 2.0mATF([1.1~1.5
(EREEEATAS - BRI
EHEIE
1.5mELF | 2. OmEA TR [ 2. 5mELF [ 3. OmELAF | 3. 5mEA R | 3. 8mLLF
HR
K& 4.0 5.0
(ZET) _ (EREXIREE) _
IRIE EHEIE EAE | HARK EREREE |XEREAEE o)
2.0mEAF [ 3. 5mELF | 3. 8mLLF
0.9TF HR
N 0.9~1.1
AA 1.1~1.5 1[m] 18 2.1240 2.1t
1.5~2.0 K&
0.9LLF 5.0
K 0.9~1.1 (REMERER)
1.1~1.5 4.0 ; EfEEs (L&)
1.5~2.0 HZR

KE 2.1t




